
 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Why is maximizing? Wealth better goal than 
maximizine profits. 

 C»õ£ AvP›¨¤øÚÂh ö\ÀÁzøu AvP©õÚ 

C»UPõP öPõshx Hß? 

2. What are the kinds of equity shares? 

 \õuõμn £[SPÎß ÁøPPÒ ¯õøÁ? 

3. Briefly explain the concept of capital structure. 

 ‰»uÚ Aø©¨¦ P¸zvøÚ _¸UP©õP ÂÍUSP. 

 UG–231 BAF–31/
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4. What are the disadvantages of in adequate 
working capital? 

 |øh•øÓ •uÀ £ØÓõU SøÓ°ÚõÀ HØ£k® 

SøÓ£õkPÒ ¯õøÁ? 

5. Explain the kinds of dividend. 

 £[Põu¯zvß ÁøPPøÍ ÂÍUSP. 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the functions of financial management. 

 {v ÷©»õsø©°ß £oPøÍ ÂÁ›. 

7. How the cost of capital is determind for equaity 
shares and preference shares? 

 ÷|ºø©£[SPÒ ©ØÖ® •ßÝ›ø© £[SPÎß 

AhUPÂø» GÆÁõÖ {ºn°UP¨£kQÓx. 

8. Discuss the factors which determinds the capital 
structure. 

 •uÀ Pmhø©¨¤øÚ {ºn°US® PõμoPøÍ 

ÂÍUSP. 

9. Explain the source of working capital and factors 
which determine them. 

 |øh•øÓ ‰»uÚzvß Buõμ[PÒ ©ØÖ® AuøÚ 

{ºn°US® PõμoPøÍ ÂÍUSP. 
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10. What are the factors that influencing dividend 
policy of business? 

 Â¯õ£õμzvß £[S Buõ¯ öPõÒøP°øÚ £õvUS® 

PõμoPÒ ¯õøÁ? 

11. What are the merits and demerits of preference 
shares? 

 •ßÝ›ø© £[SPÎß |ßø© wø©PÒ ¯õøÁ? 

12. Explain the different sources of security financing. 

 ¤øn¯ {v Cku¼ß £À÷ÁÖ Buõμ[PøÍ 

ÂÍUSP. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE, 2019. 

Third Year 

INCOME TAX 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Define the term Person. 

 |£º – Áøμ¯Ö. 

2. From the given details find out taxable salary of 

Mr. Sharan who is working and living in Chennai. 

 Basic salary Rs.78,000 

 D.A. (forming part of salary) Rs.7,800 

 House rent allowance per annum Rs.11,700 

 Rent paid per annum Rs.13,200 

 UG–232 BCS–32
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 \μß Gß£Áº ö\ßøÚ°À £o ö\´QßÓõº. AÁ›ß 

Á›Âv¨¤ØS›¯ \®£Ízøu PnUQkP. 

 Ai¨£øh Fv¯® ¹.78,000 

 £i (\®£Ízxhß Ti¯x) ¹.7,800 

 Ãmk ÁõhøP¨£i Kº BsiØS ¹..11,700 

 ÁõhøP ö\¾zv¯x Kº BsiØS ¹.13,200 

3. What are Deemed Profits? 

 C»õ£©õP P¸u¨£køÁPÒ ¯õøÁ? 

4. Compute Income from other sources  

 Director fees     Rs.60,000 

 Interest from Bank    Rs.9,000 

 Income from undisclosed sources  Rs.45,000 

 Gross dividend on shares   Rs.16,200 

 Ground rent     Rs.5,000 

 Cuμ Á¸©õÚzøu PnUQkP. 

 C¯US|º Pmhn®   ¹.60,000 

 Á[Q «uõÚ Ámi   ¹.9,000 

 öÁÎUPõmhõu Á¸©õÚ®  ¹.45,000 

 ö©õzu £[Põuõ¯®   ¹.16,200 

 uøμ ÁõhøP    ¹.5,000 
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5. State any five general deductions from payments. 

 ö\¾zxuÀPÎÀ H÷uÝ® I¢x ö£õx PÈÄPøÍ 

SÔ¨¤kP. 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Explain the rules relating to determination of 
residential status of an assessee. 

 uÛ |£›ß Si°¸¨¦ {ø»ø¯ wº©õÛUS® 

Âv•øÓPøÍ ÂÍUSP. 

7. Describe the treatment of agricultural Income 
under Income Tax Act. 

 ÂÁ\õ¯ Á¸©õÚ® C¢v¯ Á¸©õÚa \mhzvÀ 

GÆÂu® P¸u¨£kQÓx Gß£øu ÂÁ›. 

8. Find out Salary Income for the financial year 
2018-19. 

 Salary     Rs.8,000 p.m. 
 D.A.      Rs.3,000 p.m. 
 Salary received in advance  Rs.24,000 
 Bonus     Rs.6,000 
 Education allowance @ 300 p.m. each for his two 

children 
 Arrears of salary received Rs.8,000 
 House rent allowance Rs.2,500 p.m. (Rent paid 

Rs.2,000 p.m.) 
 Find out the salary Income. 
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 2018&19 BsiØPõÚ \®£Í Á¸©õÚzøu PnUQkP. 

 \®£Í®     ¹.8,000 p.m. 

 £i     ¹.3,000 p.m. 

 \®£Í •ß£n®    ¹.24,000 

 »õ£ DÄ    ¹.6,000 

 PÀÂ £i ¹.300 p.m. Cμsk SÇ¢øuPÐUS ©mk®. 

 \®£Í {¾øÁ ö£ØÓx ¹.8,000 

 Ãmk ÁõhøP ¹.2,500 p.m. ÁõhøP ö\¾zv¯x® 

(2,000 p.m.) 

 \®£Í Á¸©õÚzøu PnUQkP. 

9. The house details are given below 

      Rs. 

 Rent received   75,000 

 Municipal tax   12,000 

 Insurance premium  500 

 Unrealised rent   7,500  

 Municipal value   80,000 

 Interest on housing loan  15,000 

 Compute income from House property. 
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      ¹. 

 ÁõhøP ö£ØÓx   75,000 

 |Pμõm] Á›   12,000 

 Põ¨¥k    500 

 QøhUP ö£Óõu ÁõhøP   7,500  

 |Pμõm] ©v¨¦   80,000 

 Ãmk Phß «uõÚ Ámi  15,000 

 Ãmk Á¸©õÚzøu PnUQkP. 

10. The P&L account of a firm shows a profit of 

Rs.20,000 after charging the following items 

      Rs. 

 Income tax paid   20,000 

 Travelling expenses  50,000 

 Penalty and fees   10,000 

 Sales tax    50,000  

 Remuneration to partners 80,000 

 Compute the taxable profit. 
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 {ÖÁÚzvß C»õ£ |mh ¹.20,000 ¤ßÁ¸® 

\›UPmkuÀPÒ £vÄ ö\´u ¤ÓS 

      ¹. 

 Á¸©õÚ Á› ö\¾zv¯x  20,000 

 ÷£õUSÁμzx ö\»ÄPÒ  50,000 

 usha ö\»ÄPÒ   10,000 

 ÂØ£øÚ Á›   50,000  

 TmhõÎPÎß Fv¯®  80,000 

 \›¯õÚ Á› Âv¨¤ØS E›¯ »õ£ / |mhzøu 

PnUQkP. 

11. Compute capital gain / loss for AY 2019-20 

      Rs. 

 House purchased in 1982-83 4,36,000 

 Sold in 2016 (CII – 1125) 95,00,000 

 New House purchased  3,00,000 

 Deposit in capital gain scheme4,00,000  

 Find out capital gain / loss. 
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 2019-20 BsiØPõÚ Â£μ[PÒ 

      ¹. 

 Ãk öPõÒ•uÀ 1982-83  4,36,000 

 ÂØ£øÚ 2016 (CII – 1125) 95,00,000 

 ¦v¯ Ãk öPõÒ•uÀ  3,00,000 

 ‰»uÚ Buõ¯ øÁ¨¦  4,00,000  

 ‰»uÚ Buõ¯® / |mh® PnUQkP. 

12. Compute the qualifying amount U/S 80C for the 

AY 2019-20 with the below details 

      Rs. 

 Contribution to RPF  42,000 

 Contribution to NSC  12,000 

 Group Insurance paid  18,000 

 Repayment of housing loan 10,000  

 Tuition fees paid  8,000 

 Deposit in NSS   20,000 

 Investment in UTI  10,000 



 UG–232 8

 2019-20BsiØPõÚ U/S 80C &UPõÚ uSv¯õÚ 

öuõøPø¯ PnUQkP. 

      ¹. 

 RPF – £[PÎ¨¦    42,000 

 NSC – £[PÎ¨¦   12,000 

 SÊ Põ¨¥k ö\¾zv¯x  18,000 

 Ãmk Phß v¸¨¤ ö\¾zv¯x 10,000  

 PÀÂU Pmhn® ö\¾zv¯x 8,000 

 NSS –À øÁ¨¦   20,000 

 UTI –À •u½k   10,000 

  

––––––––––––– 



  

 

 

B.Com. (CS) DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Give any five differences between Cost accounting 
and Financial accounting. 

 {v PnUQ¯¾US®, AhUPÂø» PnUQ¯¾US® 

EÒÍ HuõÁx I¢x ÷ÁÖ£õkPøÍ GÊxP. 

2. Calculate re-ordering level, Maximum stock level 
from the following Information : 

 Minimum consumption  – 100 units per day 
 Maximum consumption – 150 units per day 
 Normal consumption – 120 units per day 
 Re-order period  – 10-15 days 
 Re-order quantity – 1500 units 
 Normal Re-order period – 12 days 

 UG–233 BCS–33/
  BBCA–33
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 ©Ö Bøn{ø», AvP£m\ {ø»ø¯ ¤ßÁ¸® 

uPÁÀPÎÀ C¸¢x Psk¤iUPÄ®. 

 SøÓ¢u£m\ ~PºÄ  – 100 A»SPÒ  
J¸ |õøÍUS 

 AvP£m\ ~PºÄ J¸   

|õøÍUS   – 150 A»SPÒ 

 \õuõμn ~PºÄ J¸   

|õøÍUS   – 120 A»SPÒ 

 ]UPn öPõÒ•uÀ Põ»® – 10-15 |õmPÒ 

 ]UPÚ öPõÒ•uÀ AÍÄ – 1500 A»SPÒ 

 \õuõμn ]UPÚ   

öPõÒ•uÀ Põ»® – 12 |õmPÒ 

3.  State the reasons for variation between cost and 
financial profit. 

 AhUPÂø» PnUQ°¯À C»õ£zvØS®, {v 

PnUQ¯À C»õ£zvØS® •μs£õk Áμ Põμn[PÒ 

¯õøÁ? 

4. The following is the Information relating to 
contract 123. 

 ₹  ₹ 

Contract Price 6,00,000 Wages 1,64,000

General expenses 8,600 Raw material 1,20,000

Plant 20,000 
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 As on the date cash received was ₹ 2,40,000 being 
80% of work certified. The value of material 
remaining at site was ₹ 10,000. Depreciation on 
plant by 10%. Prepare Contract account showing 
profit to be credited to P&L a/c. 

 J¨£¢u® 123&ß RÌPsh SÔ¨¦PÎ¼¸¢x 

J¨£¢uzvß C»õ£ |mhU PnUøP PnUQkP. 

 ₹  ₹ 

J¨£¢u Âø» 6,00,000 T¼ 1,64,000

ö£õx ö\»ÄPÒ 8,600 ‰»¨ö£õ¸Ò 1,20,000

ö£õÔ¯õø» 20,000 

 ö£Ó¨£mh |õÎÀ ₹ 2,40,000 £o°hzvÀ 80% 

ö£Ó¨£mhx. uÍzvÀ «u•ÒÍ ‰»¨ö£õ¸ÒPÒ  

₹ 10,000. ÷u´©õÚ® (ö£õÔ) 10%.  

5. Profit   ₹ 800,  

 Sales   ₹ 8,000 

 Variable cost 75% of sales 

 Find out : 

 (a) BEP 

 (b) What would be sales volume to earn a profit 
of ₹ 2,000? 



 UG–233 4

 »õ£® ₹ 800,  

 ÂØ£øÚ  ₹ 8,000 

 ©õÖ£k® ö\»Ä 75%  

 ¤ßÁ¸ÁÚÁØøÓ Psk¤i : 

 (A) C»õ£&|mh ©ØÓ ¦ÒÎ 

 (B) ₹ 2,000 C»õ£zvØPõÚ ÂØ£øÚ. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. State the advantages and disadvantages of Cost 
accounting. 

 PnUQ¯¼ß |ßø© ©ØÖ® wø©PøÍ ÂÁ›UPÄ®. 

7. From the following details, prepare stores ledger 
account showing issue of material on the basis of 
LIFO 

2017 Purchases Issues  

Aug 3 750 kg @ ₹ 2 Aug 19 850 kg 

Aug 18 350 kg @ ₹ 2.10 Aug 26  450 kg 

Aug 25 600 kg @ ₹ 2.20 Aug 29 570 kg 

Aug 28 500 kg @ ₹ 2.30 Aug 30 150 kg 
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 ¤ßÁ¸® Â£μ[PøÍU öPõsk \μUS ÷£÷μmk 

PnUøP LIFO Ai¨£øh \μUS •øÓ°À u¯õ›UP  

2017 öPõÒ•uÀ öÁÎ±k 

BPìk  BPìk 

 3 750 kg @ ₹ 2  19 850 kg

 18 350 kg @ ₹ 2.10  26  450 kg

 25 600 kg @ ₹ 2.20  29 570 kg

 28 500 kg @ ₹ 2.30  30 150 kg

8. Mr. Gopal furnishes the following relating  to 
manufacture of standard product during the 
month 2017 (August) 

Raw material consumed Rs.15,000 

Direct labour Rs.9,000 

Machine hours worked 900 hours 

Machine hour rate 5 

Administrative overhead 20% on work cost 

Selling overhead 0.50  per unit 

Unit produced 17,100 

Unit sold 16,000 

Unit selling price Rs. 4 per unit 

 Prepare cost sheet showing cost per unit. 
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BPìk 2017–ß v¸. ÷Põ£õÀ {ÖÁÚzvß 

EØ£zv°ß uPÁ¼ß £i J¸ AhUPÂø» £mi¯ø» 

u¯õº ö\´P. 

‰»¨ö£õ¸Ò  ~PºÄ ¹.15,000 

÷|μi T¼ ¹.9,000 

C¯¢vμ ÷|μ® 900 ©o

C¯¢vμ ÷|μ ÂQu® 5 

{ºÁõP ÷©Øö\»Ä 20% ÷Áø» ö\»Â¼¸¢x 

ÂØ£øÚ ÷©Øö\»Ä (J¸ A»QØS) 0.50  

EØ£zv (A»SPÒ) 17,100 

ÂØ£øÚ (A»SPÒ) 16,000 

ÂØ£øÚ J¸ A»QØS ¹. 4 

9. A product passes through I, II and III process. 
Prepare process account assuming that assuming 
there is no opening and costing stock. 

  Process  

Particulars I II III 

Material 1,000 1,500 500 

Labour 5,000 8,000 6,500

Overhead 1,050 1,188 2,003

Actual output (unit) 9,500 9,100 8,100

Normal loss 3% 5% 8% 

 The wastage of process I was sold at 25 paise per 
unit, Process II -0.50 paise and Process  III-Rs. 1 
per unit. Raw material of 10,000 units were 
introduced into process I in the beginning cost of 
Rs. 1 per unit. 
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RÌPsh Â£μ[PÎ¼¸¢x ö\¯À•øÓ I, II ©ØÖ® 

III ö\»Âß PnUøP u¯õ›UPÄ®. öuõhUP ©ØÖ® 

CÖv \μUQ¸¨¦ CÀø» GßÖ FQzx öPõÒÍÄ®. 

 ö\¯À•øÓ 

ÂÁμ® I II III 
‰»¨ö£õ¸ÒPÒ 1,000 1,500 500 
T¼ 5,000 8,000 6,500
÷©Øö\»Ä 1,050 1,188 2,003
Esø©¯õÚ EØ£zv (A»SPÒ) 9,500 9,100 8,100
\õuõμn CÇ¨¦ 3% 5% 8% 

 ö\¯À•øÓ Âμ¯zøu ¤ßÁ¸® Âø»US 

ÂØP¨£mhx. (J¸ A»QØS) ö\¯À•øÓ I – 0.25 
ø£\õ, II-0.50 ø£\õ, III-¹. 1 ö\¯À•øÓ I-À 10,000 

A»SPÒ ‰»¨ö£õ¸mPøÍ  ¹.1 (J¸ A»QØS) 

GßÖ öuõh[P¨£mhx. 

10. From the following calculate earning of worker 
under  

 (a) Time rate system 

 (b) Piece rate system 

 (c) Halsay plan 

 (d) Rowan plan  

  Wage rate ₹ 2 per hour, production per hour 
– 4 units, DA – 1 per hour, Standard time 
fixed 80 hours, Actual time token – 50 hours, 
production 250 units. 
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  RÌPsh Â£μ[PÎ¼¸¢x  

 (A) ÷|μÂQu vmh® 

 (B) A»S ÂQu vmh® 

 (C) íõÀ÷\ vmh® 

 (D) ÷μõÁõß vmh® •øÓ°À öuõÈ»õÎPÎß  

T¼ø¯ Psk¤i. 

 T¼ ÂQu® ¹. 2 (J¸ ©o ÷|μzvØS), EØ£zv – 4 

A»SPÒ (J¸ ©o ÷|μzvØS), APÂø»¨£i – ¹. 1 

(J¸ ©o ÷|μzvØS) vmh÷|μ® – 80 ©oPÒ. 

Esø©¯õÚ ÷|μ® Gkzx öPõshx – 50 ©oPÒ 

EØ£zv 250 A»SPÒ.   

11. Calculate ; 

 (a) PV ratio 

 (b) Fixed cost  

 (c) BEP  

 (d) Sales required to earn a profit of ₹ 5,000 

 (e) Margin of safety in 2017. 

 2016 2017 

 ₹ ₹ 

Sales  38,000 65,000

Profit  (2,400) 3,000
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 J¸ {Ö©zvß HkPÒ ¤ßÁ¸ÁÚÁØøÓ 

PõmkQßÓÚ. 

Põ»® 2016 2017 

 ₹ ₹ 

ÂØ£øÚ 38,000 65,000

C»õ£®  (2,400) 3,000

 Psk¤i : 

 (A) C»õ£ & AÍÄ ÂQu®  

 (B) {ø»¯õÚ ö\»Ä  

 (C) \©{ø» ¦ÒÎ 

 (D) ₹ 5,000 C»õ£zvØPõÚ ÂØ£øÚ  

 (E) £õxPõ¨¦ £Sv 2017US  

12. From the following calculate  

 (a) Labour cost variance  

 (b) Labour rate variance 

 (c) Labour efficiency variance 

  Standard rate of wages per hour – ₹ 10 

  Standard hours – 300 

  Actual rate of wages per hour – ₹ 12, Actual 
hours – 200. 
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 RÌPsh Â£μ[PÎ¼¸¢x Psk¤i : 

 (A) öuõÈ»õÍº Âø» ©õÖ£õk 

 (B) öuõÈ»õÍº ÂQu ©õÖ£õk  

 (C) öuõÈ»õÍº ö\¯ÀvÓß ©õÖ£õk  

   {ø»¯õÚ ÂQu T¼ J¸ ©oUS – ₹ 10 

   {ø»¯õÚ ÷|μ® – 300 

   Esø©¯õÚ ÂQu T¼ J¸ ©oUS – ₹ 12 

   Esø©¯õÚ ÷|μ® – 200 . 

  

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Third Year 

Corporate Secretaryship  

ACCOUNTING FOR MANAGERIAL DECISIONS  

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. List out any five difference between management 

accounting and financial accounting.  

 ÷©»õsø© PnUQ¯¾US® {v PnUQ¯¾US® 

Cøh÷¯¯õÚ H÷uÝ® I¢x ÷ÁÖ£õkPøÍ 

Á›ø\¨£kzxP.  

2. Explain the limitations of financial statements.  

 {v°¯À AÔUøP°ß SøÓPøÍ ÂÍUSP. 

 UG–234 BCS–34
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3. Calculate : 

 (a) Current ratio  

 (b) Liquidity ratio  

 (c) Absolute liquidity ratio.  

  from the following information : 
 Rs. 

Cash 18,000

Debtors 1,42,000

Closing stock 1,80,000

Bills payable 27,000

Creditors 50,000

Outstanding expenses 15,000

Tax payable 75,000

 RÌUPsh uPÁÀPÎ¼¸¢x |h¨¦ ÂQu®, }ºø©z 

ußø© ÂQu®, \›¯õÚ }ºø©z ußø© ÂQu® 

BQ¯ÁØøÓU PnUQkP. 

 ¹. 

öμõUP® 18,000
PhÚõÎPÒ 1,42,000
CÖva \μUS 1,80,000
ö\¾zxÁuØS›¯ ©õØÖa ^mk 27,000
PhÜ¢÷uõº 50,000
öPõk£h÷Ási¯ ö\»ÂÚ[PÒ 15,000
ö\¾zu ÷Ási¯ Á› 75,000
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4. The following details are available from a 
company.  

 2015 
Rs. 

 2016 
Rs. 

  2015
Rs. 

2016
Rs. 

Share capital 70,000  74,000  Cash 9,000 7,800

Debentures 12,000  6,000  Debtors 14,900 17,700

Reserve for doubtful     Stock 49,200 42,700

  debts 700  800  Land 20,000 30,000

Trade creditors 10,360  11,840  Goodwill 10,000 5,000

Profit and less a/c 10,040  10,560   

 1,03,100  1,03,200   1,03,100 1,03,200

 You are required to calculate cash from operation.  

 RÌUPõq® ÂÁμ[PÒ J¸ {Ö©zvÀ QøhzuøÁ. 

 2015 

¹. 

 2016 

¹. 

  2015 

¹. 

2016 

¹. 

£[S ‰»uÚ® 70,000  74,000  öμõUP® 9,000 7,800

Phß £zvμ® 12,000  6,000  PhÚõÎPÒ 14,900 17,700

I¯UPhß Põ¨¦ 700  800  \μUS 49,200 42,700

Â¯õ£õμU Phß     {»® 20,000 30,000

  D¢÷uõº 10,360  11,840  |Øö£¯º 10,000 5,000

»õ£ |mh P/S 10,040  10,560   

 1,03,100  1,03,200   1,03,100 1,03,200

 öμõUP |h©õmhzøuU PnUQkP.  



 

 UG–234 4

5. Prepare a production budget for the three months 
ending March 31, 2009 for a factory producing four 
products, on the basis of the following information.  

Type of 
product 

Estimated 
 stock on  

Jan-1 2009 
(units) 

Estimated 
stock on  

Jan-March 
2009 (units) 

Desired 
closing stock  

March, 31 2009 
(units) 

A 2000 10000 5000 

B 3000 15000 4000 

C 4000 13000 3000 

D 5000 12000 2000 

 RÌUPsh ÂÁμ[PÎß£i |õßS ö£õ¸mPøÍ 

EØ£zv ö\´²® öuõÈØ\õø»°ß 31 ©õºa 2009 À 

•i²® ‰ßÖ ©õuzvØPõÚ J¸ EØ£zvz 

vmh¨£mi¯ø»z u¯õ›UPÄ®.  

ö£õ¸Îß 

ÁøPPÒ 

1.1.2009 

Gvº£õºUP¨£k® 

\μUQ¸¨¦ 

(A»SPÎÀ) 

1.1.2009 •uÀ 

31.3.2009 Áøμ  

Gvº£õºUP¨£k® 

ÂØ£øÚ  

(A»SPÎÀ) 

©õºa 31, 2009À

Â¸®£zuUP 

CÖva \μUQ¸¨¦

 (A»SPÎÀ) 

A 2000 10000 5000 

B 3000 15000 4000 

C 4000 13000 3000 

D 5000 12000 2000 
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PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the advantages and limitations of 

management accounting.  

 ÷©»õsø© PnUQ¯¼ß |ßø©PÒ ©ØÖ® 

SøÓ£õkPøÍ ÂÁ›.  

7. Calculate the trend precentage from the following 

figures of Priya Ltd. taking 2005 as the base and 

interpret them.  

 Rs. in lakhs 

Year Sales Stocks Profit before tax

2005 1881 709 321 

2006 2340 781 435 

2007 2655 816 458 

2008 3021 944 527 

2009 3768 1154 672 
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 ¤›¯õ ¼ª÷hmiß ¤ßÁ¸® Â£μ[PÎ¼¸¢x 

÷£õUS ÂQu[PÒ, 2005&® BsiøÚ Ai¨£øh¯õP 

öPõsk PnUQmk ÂÍUPÄøμ u¸P.  

 ¹. (»m\zvÀ) 

BskPÒ ÂØ£øÚ \μUQ¸¨¦ Á›US •¢øu¯

C»õ£® 

2005 1881 709 321 

2006 2340 781 435 

2007 2655 816 458 

2008 3021 944 527 

2009 3768 1154 672 

8. From the following information, prepare a balance 
sheet. Give the working also.  

 (a) working capital - Rs. 75,000 

 (b) reserves and surplus - Rs. 1,00,000 

 (c) bank overdraft - Rs. 60,000 

 (d) current ratio - 1.75 

 (e) liquid ratio - 1.15 

 (f) fixed assets to proprietors funds - 0.75 

 (g) long-term liabilities - Nil.  
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸¨¦ {ø» SÔ¨ø£ 

u¯õº ö\´P.  

 (A) |øh•øÓ •uÀ & ¹. 75,000 

 (B) Põ¨¦ ©ØÖ® E£› & ¸. 1,00,000 

 (C) Á[Q ÷©ÀÁøμ£ØÖ & ¹. 60,000 

 (D) |h¨¦ ÂQu® & 1.75 

 (E) }º© ÂQu® & 1.15 

 (F) {ø»¯õÚ ö\õzxUPÒ E›ø©¯õÍºPÐUS  

{v & 0.75 

 (G) }shPõ» ö£õÖ¨¦PÒ & CÀø» 

9. The following are the balance sheets of V Ltd. as 
on 1st March 2012 and 2013. Prepare a statement 
of cash flow.  

Balance Sheets 
 2012  2013  Assets  2012 2013

7% redeem      Fixed assets 4,000 4,100
  pref-share 1,000  -  (–) depreciation 1,500 1,100
Equity shares 4,000  4,000   2,500 3,000
Reserve 200  200  Debtors 2,400 2,000
P/L a/c 120  100  Stock 3,500 3,000
Debentures 700  600  Prepaid expenses 50 50
Creditors 1100  1200  Cash 350 100
Provision       
 for tax 420  300   
Proposed dividend 580  500   
Bank O.D 680  1,250   
 8,800  8,150   8,800 8,150
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 V ¼ªöhmiß ©õºa 1, 2012 ©ØÖ® 2013 B® 

BsiØPõÚ C¸¨¦{ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ 

Cv¼¸¢x öμõUP Kmh AÔUøP u¯õº ö\´P. 

C¸¨¦{ø»U SÔ¨¦PÒ 

 2012  2013  ö\õzxUPÒ 2012 2013

7% «m¦ •ßÝ›ø©      {ø»a ö\õzxUPÒ 4,000 4,100

 £[SPÒ 1,000  -  (–) ÷u´©õÚ® 1,500 1,100

\©£[S •uÀ 4,000  4,000   2,500 3,000

Põ¨¦{v 200  200  PhÚõÎPÒ 2,400 2,000

C»õ£|mh P/S 120  100  \μUS 3,500 3,000

Phß £zvμ[PÒ 700  600  •ßTmi ö\¾zv¯ 

PhÜ¢÷uõº 1100  1200    ö\»ÄPÒ 50 50

Á›UPõÚ JxUS 420  300  öμõUP® 350 100

£[Põuõ¯® AÔÂ¨¦ 580  500   

Á[Q ÷©À Áøμ¨£ØÖ 680  1,250   

 8,800  8,150   8,800 8,150

10. The expenses for budgeted production of 10000 
units in a factory are furnished below.  

Particulars Per unit
Rs. 

Materials 70 

Labour 25 

Variable over heads 20 

Fixed overheads (Rs. 1,00,000) 10 

Variable expenses (direct) 5 
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Particulars Per unit
Rs. 

Selling expenses (10% fixed) 13 

Distribution expenses (20% fixed) 7 

Administration expenses (Rs. 50,000) 5 

Total cost per unit 155 

 Prepare a budget for production of (a) 8000 units 
(b) 6000 units and (c) indicate cost per unit at both 
the levels. Assume that administration expenses 
are fixed for all the levels of production.  

 J¸ öuõÈØ\õø»°ß 10,000 A»SPÒ EØ£zv 

ö\´ÁuØPõÚ ÁμÄ ö\»Ä vmhªmh ö\»ÄPÒ 

¤ßÁ¸©õÖ.  

Â£μ[PÒ ¹.  

(Kº 

A»SUS)

‰»¨ö£õ¸ÒPÒ 70 
T¼ 25 
©õÖ£k® ÷©Øö\»ÄPÒ 20 
{ø» ÷©Øö\»ÄPÒ (¹. 1,00,000) 10 
©õÖ£k® ö\»ÄPÒ (÷|μi) 5 
ÂØ£øÚ ö\»ÄPÒ (10% {ø»¯õÚx) 13 
ÁÇ[PÀ ö\»ÄPÒ (20% {ø»¯õÚx) 7 
{ºÁõPa ö\»ÄPÒ (¹. 50,000) 5 
A»Qß ö©õzu ö\»Ä 155 
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 EØ£zv ÁμÄ ö\»Ä vmhzøu RÌPõq® EØ£zvUS 

u¯õ›UPÄ® (A) 8000 A»SPÒ (B) 6000 A»SPÒ 

(C) C¸ {ø»PÎ¾® JÆöÁõ¸ A»SUPõÚ 

AhUPzøu PõmkP. AøÚzx {ø» u¯õ›¨¤¾® 

{ºÁõPa ö\»Ä {ø»¯õÚx GÚ FQzxU öPõÒP.  

11. Two products M and N which are mutually 
exclusive are being under consideration. Both of 
them required an investment of Rs. 1,00,000 each. 
The net cash inflows are estimated as under.  

Year M N 

 Rs. Rs. 

1 10,000 30,000

2 40,000 50,000

3 30,000 80,000

4 60,000 40,000

5 90,000 60,000

 The company targeted rate of return on 
investments is 12% you are required to assess the 
projects on the basis of their present values, using 
NPV method.  

 Present value of Re. 1 at 12% interest for five 
years are given below. 

 1st Year - 0.893 2nd year - 0.797 3rd year - 0.712 4th 
year - 0.636 5th year - 0.567. 
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 M ©ØÖ® N C¸÷ÁÖ \©÷|õUSøh¯ vmh[PÒ, 

CøÁ CμsiØS® u»õ ¹. 1,00,000 •u½k 

÷©ØöPõÒÍ¨£kQÓx. {Pμ öμõUP Kmh® ©v¨¥k 

R÷Ç öPõkUP¨£mkÒÍx.  

Bsk M N 
 ¹. ¹. 

1 10,000 30,000
2 40,000 50,000
3 30,000 80,000
4 60,000 40,000
5 90,000 60,000

 A¢u {Ö©® 12% •u½miß «uõÚ v¸®£ Ãu® 

C»US {ºn¯® ö\´xÒÍx. |h¨¦ ©v¨ø£ 

Ai¨£øh¯õPU öPõsk {Pμ ©v¨¦ •øÓø¯ 

PnUQkP.  

 I¢x Á¸h[PÐUPõÚ |h¨¦ Ãu® ¹. 1, 12% ÃuzvÀ 

R÷Ç uμ¨£mkÒÍx.  

 •u»õ® Bsk & 0.893 Cμshõ® Bsk & 0.797 

‰ßÓõ® Bsk & 0.712 |õßPõ® Bsk & 0.636 

I¢uõ® Bsk & 0.567. 

12. Distinguish between fund flow statement and cash 
flow statement.  

 {v Kmh AÔUøPUS® öμõUP Kmh AÔUøPUS® 

EÒÍ ÷ÁÖ£õkPøÍ TÖP.  

––––––––––––– 
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PRINCIPLES OF HUMAN RESOURCE 
MANAGEMENT 
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PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. State the importance of HRM. 

 ©ÛuÁÍ ÷©»õsø©°ß •UQ¯zxÁzøu 

SÔ¨¤kP.  

2. What are the limitations of HR planning? 

 ©ÛuÁÍz vmhªku¼ß SÓ£õkPÒ ¯õøÁ? 

3. Explain in detail the various external sources of 
Recruitment. 

 {ÖÁÚzvß ¦Ó BÒ÷\ºzu¾UPõÚ £À÷ÁÖ  

ÁÍ[PøÍ ÂÍUSP. 

 UG – 235 BCS–35
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4. Explain the objectives of wage administration. 

 T¼ {ºÁQzu¼ß ÷|õUP[PøÍ ÂÍUSP. 

5. Explain the functions of a trade union. 

 öuõÈØ \[Pzvß  £oPøÍ ÂÍUSP. 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the role of the Human Resource Manager. 

 ©Ûu ÁÍ ÷©»õÚ›ß £[S SÔzx ÂÍUSP.  

7. Explain the various steps involved in HR 
planning. 

 ©Ûu ÁÍ vmh ªku¼À EÒÍ £À÷ÁÖ 

£i{ø»PøÍ ÂÍUQ GÊxP. 

8. Discuss the various stages involved in the 
selection of candidates for jobs in an organisation. 

 J¸ {ÖÁÚzvß £o¯õºPøÍ ÷uºÄ ö\´ÁvÀ 

EÒÍ £À÷ÁÖ {ø»PøÍ ÂÍUQ GÊxP. 

9. Describe the importance of training. 

 £°Ø] AÎzu¼ß •UQ¯zxÁøu ÂÍUSP. 
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10. Discuss the various methods available for 
appraising  the performance of employees. 

 J¸ £o¯õÍ›ß ö\¯ÀvÓß ©v¨¥miß £À÷ÁÖ 

•øÓPøÍ ÂÍUSP. 

11. Explain in detail the procedure to be followed for 
initiating disciplinary action against an employee. 

 {ÖÁÚ £o¯õÍºPÐUS GvμõP JÊURÚ 

|hÁiUøPPÒ Gk¨£uØPõÚ |øh •øÓPøÍ ÂÍUQ 

GÊxP. 

12. Discuss the duties and liabilities of a trade union. 

 öuõÈØ\[Pzvß Phø©PÒ ©ØÖ® ö£õÖ¨¦PÒ 

SÔzx ÂÍUS GÊxP. 

 

–––––––––––––  




